
Factorising and Solving Quadratics (No Formula)

T - Times to make the 
E - End value
A - Add to make the 
M - Middle value

Memory

Example
Factorise:  𝑥2 + 5𝑥 + 6
T (+6) 
E (1 x 6)  (2 x 3)  (-1 x -6)  (-2 x -3)
A  (+5) (1+6=7) (2+3=5) (-1+-6=-7) (-2+-3=-5)
M So (𝑥 + 2)(𝑥 + 3)

Solve:  𝑥2 + 5𝑥 + 6 = 0
𝑥 + 2 𝑥 + 3 = 0

𝑥 + 2 = 0
𝑥 = −2

𝑥 + 3 = 0
𝑥 = −3

Put each bracket equal to 0 to find 
both values of 𝑥.

LiteracyWrite down keywords associated with factorising and why. 
Can you find one totalling  11?
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Factorise the following into 
double brackets.

1) 𝑥2 + 7𝑥 + 10 9) 𝑥2 + 15𝑥 + 36

2) 𝑥2 + 5𝑥 + 5 10) 𝑥2 − 8𝑥 + 16

3) 𝑥2 + 7𝑥 + 12 11) 𝑥2 − 4𝑥 − 21

4) 𝑥2 − 7𝑥 + 12 12) 𝑥2 − 5𝑥 − 24

5) 𝑥2 + 6𝑥 + 8 13) 𝑥2 − 3𝑦 − 28

6) 𝑥2 + 2𝑥 − 8 14) 𝑥2 − 9

7) 𝑥2 − 2𝑥 − 8 15) 𝑥2 − 64

8) 𝑥2 − 6𝑥 + 8 16) 𝑥2 − 26𝑥 − 165

Solve the following quadratic equations

1) 𝑥2 + 7𝑥 + 15 = 0 9) 𝑥2 + 11𝑥 + 18 = 0

2) 𝑥2 − 5𝑥 + 6 = 0 10) 𝑥2 − 4𝑥 − 12 = 0

3) 𝑥2 − 6𝑥 + 9 = 0 11) 𝑥2 − 5𝑥 − 24 = 0

4) 𝑥2 − 7𝑥 + 10 = 0 12) 𝑥2 − 9𝑥 + 18 = 0

5) 𝑥2 + 6𝑥 + 8 = 0 13) 𝑥2 − 16 = 0

6) 𝑥2 + 2𝑥 − 15 = 0 14) 𝑥2 − 81 = 0

7) 𝑥2 − 4𝑥 − 21 = 0 15) 2𝑥2 − 3𝑥 − 2 = 0

8) 𝑥2 + 11𝑥 + 24 = 0 16) 2𝑥2 + 7𝑥 − 15 = 0

1) 2𝑥2 + 11𝑥 + 12 2) 3𝑥2 + 10𝑥 − 8 3) 3𝑥2 + 7𝑥 + 2

4) 4𝑥2 − 23𝑥 + 15 5) 6𝑥2 + 7𝑥 + 2 6) 8𝑥2 − 10𝑥 − 3

1) 2𝑥2 + 5𝑥 + 3 = 0 2) 3𝑥2 + 8𝑥 + 4 = 0 3) 3𝑥2 − 5𝑥 − 2 = 0

4) 4𝑥2 − 3𝑥 + 10 = 0 5) 6𝑥2 − 13𝑥 + 6 = 0 6) 10𝑥2 + 9𝑥 + 2 = 0

Factorise fully Solve the following             quadratic equations


